SHTEE MERIAS2 =T BHESOREBE

= 15

. H —
No. | 0 £ BUERER | — E g x 5 7 - %
e s 7878 () FEREOBEES |STEBLLEERY |[REZBOHE(ZE
1| B (BFHBEIASI=TAHER | (500~17:20 33 2 Bl pwfEIzoNT HIZDNT BB SO
| s 7H118 (K) W aEr7YRTL (ABTEAors |BRIEHER ~
2 | EH |EAEazasToms | BN g0 gl ppEBIETTYATL LETREN O EBOHR=
; = . CEL-LAFRFENE |ZEER-ESH-EEHM |FEII— RNAD b i [ —
3| K |KERIza=Toipme | D9E D) 18 2| 15| FEEREIHEE |\ citraiLBA S| EHRORKHEH|TAM R ED B KD HORERRIED
' ' = T #HOWYIZDNT 2D T EEICDT
° b < [PEASBEO R
_ . = b 7R148(RH) X/ANZXOFEMEM LIS Gl atiniupdie
4 | BE REBEIZA=TAHER | 500~170 26 2 285\ %EI’SITPCE%%@E
B/ 0O)IIE R DRSS RBHED-HDOER G ER KM S
5 | kA |wARIs2=Tipme | DISEE) 1o 7| 26|RBHSVUER® (BT NOTEERORHE |2l DU Y |0 =pma Rl
' ' BHEREIZONT HITEFIRIZ DT 2T
_— 78258 (K) ol
6 | XRER |22 =T RER 15:00~ 1710 29 4 33| ERIEHEIZDONT
= ne 7A278 (+) AETEOHY =D [BERDBOBDED|mm
7| M IHIZA=ToIRER v 39 9 48| Nz Lf D= FERETONT
y Foz o = s 7H28H (H) - BEROHHN (K/AREFTEEIZOL
8 | K |KEIZ2=T/IHESR 13:30~16:00 53 18 Al el -
" FEREEOBUEIZ DL
9 | #ERHE |FEREIS2=TAHER 1503005'2(0@3 15 4 19(T, [F0N(T—V&ERT
: : "B IR
_d-amm.\uﬂ)
MRS 7 VAT L
10| AR |ARIza=TqHhE=R 185%851(;5)0 11 3 14/1220T, EA(F—F
' ' ZRITY BHEHR)
=EREOFEER L
1| #E [ERmgasasTopEe | SIBHE) 22 | PBBHHEIONT |AREERREITOUT [SOLT TN
: . oS EBZMA 2% e
12| B |BE3s2=FohES 8RB ) 40 8| 48| aHITBEBREICONT I oLT SIS REEMAL | BRREAROER | peprmiconc
~ 4 320 68| 388
- i (282)|  (80)| (362)

X BEHEO( DR, IIFEEHEERTI,




